NOYAU et IMAGE

> A:=matrix(2,2,[-1/5,-2/5,3/5,6/51);

-1 -2
5 5
A=
3 6
5 5
>  evalm(AxA);
-1 =2
5 5
3 6
5 5
> kernel(A);
{=2, 11}
> colspace(A);
{[1, =3]}
PUISSANCES DE MATRICES
> A:=(1/3)*matrix(3,3,[0,-2,-2,2,0,-1,2,1,0]);
1 0o -2 -2
A;zzg 2 0 -1
2 1 0
> seq(evalm(A~k),k=2..5);
-8 -2 2 g 2 2 8
9 9 9 3 3 9
-2 -5 -4 -2 0 1 2
9 9 9 3 317 9
2 -1 5| | =2 ]| 22
9 9 9 3 3
> B:=matrix(2,2,[1,a,0,1]);
1 a
p=[ g 7]
> seq(evalm(B~k),k=2..5);
2a 1 3a 1 4a
1 1’(0 1 |0 1
> J:=matrix(4,4,[1$16]);
1 1 1 1
1 1 1 1
J = 1 1 1 1
1 1 1 1

> seq(evalm(J~k),k=2..5);
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4 4 4 4 16 16 16 16 64 64 64
4 4 4 4 16 16 16 16 64 64 64
4 4 4 4|16 16 16 16 |’ | 64 64 64
4 4 4 4 16 16 16 16 64 64 64
INVERSE DE MATRICE
> A:=matrix(3,3,[1,0,a,1,a,-1,a,0,1]);
1 0 a
A=|1 a -1
a 0 1
> det(A);
a—a’
MARKOV
> P:=matrix(3,3,[0.8,0.3,0.2,0.1,0.2,0.6,0.1,0.
> 5,0.2]1);
8 3 2
P=1.1 2 6
1 5 2
> X:=matrix(3,1,[1000,0,0]);
1000
X = 0
0
> evalm(P~7&*X) ;
563.8874000
226.0691000
210.0435000
> I3:=matrix(3,3,[1,0,0,0,1,0,0,0,11);
1 0 0
13 := 1 0
0 0 1
> 03:=matrix(3,1,[0%$3]);
0
03: =10
0
> X:=linsolve((P-13),03);
_tyy
X = | .4117647058 _t,

.3823529411 _t,,
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